ohe 138 9] AABC oA £C =90° ¥ W, sinA + cos A 9] gk o}
ofzt.

T

A s T c
10
B
> [l J
=
> mg: U
13

~&B

AB = V242 1 102 = 26 (cm)

10 5
SinA = — = —
AW
CoSA = — = —
26 13 12 17
.. SinA + cosA = —

B3T3




@ sin32° =0.52
© cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cosd44°=2.1

A= At@l(sin) | FApQl(cos) | EHHIE (tan)
31° 0.51 0.86 0.60
32° 0.52 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0.77 0.84
41° 0.66 0.75 0.87
42° 0.67 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97

Ch "
H =

>
>

0%
L
@

cos44° = 0.72°]| 2 & 3cos44° = 2.16 ©|T}.




3. & adeA tAQC =50°, /BOC = 40° ¢ ©, ,APB ¢ A7]|E
Jaholat

[ 2
[> =gt 30 °

~&B

HASHOE °]2H /AOC = 100°
LAOB = 60°

.. LAPB = % x60°=30°




oh TRel 4 0 & 919 F410] T LACB = 25° 5.0ptAB = 5cm
o o], 5.0ptAD ¢] Zo]=?

@ 10cm @ 1lem ® 12cm @13(:111 ® 14cm

B ~

5
AV
D>~ —C

—~
C 9D S 4&5Hd 5.0ptAD & U574 65°
25°: 65° =5 : 5.0ptAD

~
- 5.0ptAD = 13(cm)




oh& 2812 €0 o4 5.0ptAB = sem D
2w, 5.0ptCD ©] ol atelet.

0]
50°
Al
8Emm-«B
> = cm
[> HE. 16 cm

~~
50°:100° =8 : 5.0ptCD
—~~
1:2=28:5.0ptCD
~~
. 5.0ptCD = 16 (cm)




e 89 & Yol &= H P,Q oA A& vl /PAB = 85°,
(ABQ = 80° ¢ ], zx °] 27]& Fateiet.

/ABQ = /DPQ = 80°
- £x = 180° — 80° = 100°




7. TS 2olA sx O groz AAF 29

N

DA
=

@use  @ue  @ur @1y 6y

AB=AC o]BE&2

1
/(B = 5(180° — 50°) = 65°
/x = 180° — 65° = 115°




8. o= IdNA L, 2y o A71E 47 FH5HH?

T
® zx =60° sy =110° @ 1x=60° sy=120°
® 1x=170°, Ly = 120° @ /x=1T0°, Ly = 130°

@Ax =70° sy =140°

/x = T0°
Ly = 2/x = 2 X 70° = 140°




9. ©=9 I"AA x 9 gt& 5t
H?

AH-BH = PH2 ]2 & 3x = 36
Sx=12




10. o= Z™olA x ¢ gt& Fstof=t C




11. ofg 127 22 4747 ABC oA tanC = — o], BC 7}

12
4em € W, AB 9] ZAol& Fsloil.

C
\
\
\
\
|
4 cm
|
]
]
!
/
A—Lp
> = cm
> M 5 cm

B
AB AB 5

== — 9|E = AB o
tan C — i 5 B2 4x5=12x AB ©|t}.

wtebd AB = Zem oI,







13. tan60° x sin30° — cos 30° x tan 45° 2] 22

@o )

@? @ V3 G 1

N =

B ~

1
tan 60° X sin 30° — cos 30° X tan45° = V3 x 3" \/75 x1 =




I
o
I
o
1)
iy
rlo
JLJ
)
o
N
ofll
>
oo}
aQ
2
X,
A
Q
Il
t
o
E
me
=
=
oo}
lo

@ 5cm @ 10cm ® 5v3cm
@ 15cm ® (5+ V3)em

xsin30° =5 o|B2&2
=5x%x2=10(cm)

* T Sin30°




15. o2 A3 SollA Wol7t =
2 Arett)

ch V3 =1.732

1 1
= -_— 4 _——
@S 5 X ><7><2 7

1
@S:§X4X3=6
1
@S:§X4X3=6
1 V3
@ 5 X6x4x <
V3

1
S =—-
® 2><5><5><2

6 V3 = 10.392

%ﬁ = 10.825




16. o2 1" A tA=70°¥ o, /B 9 A27]=?

A
N\

@5 @60 G @ O

A9 FAHA FBA7tR ] A—rt gon=z
AB = AC AABC £ o]|5H4Zgo|n g2,
= (180° — 70°) + 2 = 55°




17. g IYoIH AT FEe)
A

(F,PTE=90°

@ g\/§CIn2

® ;\/gch

D et

1
.'.3\/§><3><§:

93

— (em

%)

/T =90° 0|22 PT = V62 - 32 = 3V3(cm)




18. o2 2oA PA, PB7H Y0 9 H
A ), x o] Aol=?

® Vi @245 @)3+5
@ 5v2  ©® 6V2




19. o JOdu &
o3 o e
4dcm, lem 91 5

Ao sl AB

® 2+v1lcm @ 4+v3cm ® 2+13cm
@ 2+V14cm (@)QN/Ecm

OA =4¢m,OT = lcm
AT = V42 -12 = VI5(cm)
- B = 2AT = 2VT5(cem)




20.

@ 1llem @12cm

® 13cm

@ 14cm

® 15cm

AD 4+ BC = AB + CD ©]
7T+9=4+x
2ox =12 (cm)

uB=g




21. ohg 2ol M AB 7H 9 0 o 4B ), x, 2y o A71E 247t 75
ofet.

=|: Ax=25_°

v Vv v Y
0x
0

0
n

= Ly = 105°

/x + 15° =40° . /x = 25°
/B = 180° — (15° 4+ 90°) = 75°
Ly + /B = 180° °]|B& sy = 105° o]t}




22. ©S 0ABCD 7} Yo Yy
o a o b O] TAE 7 Y
B AL

T AT,

Da=b @ 2a=0b @a=2b
@ 2a=3b ® 3a=0b




23.

(1)8% = 2(2 + 2x),64 = 4 + 4x
4x = 60

SLx=15

(2)x% = 2 x 16,22 = 32
Lx=4V2(0 x> 0)




o), x ) & Fatoleh

44+ x) =5x%x8

Lx=06




25. e 28 T oA sinx Q] 275 L

y4
Rl RO g A AT 20

1
o> @38 o 0B
@O0D ® OA

0]

2 ¥

_ AB AB
Sin X — =

0A 1

Il
4
oo




90°, AC:BC=8:5?—,_JILH,M
= tan A
o] & Faloiat,

A
> =
39
> =g o

B

AC:BC=8:59]22 AC =8x, BC=5x (x>0 A5
2t ot metEkA Aol oJste] AB = /(8x)2 — (5x)2
V39x o]t}

5% 5 _V39x V39 _ bx
= sinA = =3 cos A = & 8 ,tanA—@x
3
V39

5 W39 5439
sin A X cos A g ] 64 39

A = _ 220

et tan A 5 5 64 et
V39 V39




27. thE 2t 2ol WA Bolzk 30em 21 W O o st §7
G| Holg 57

CD
D 1350 cm? @ 1350 V2 cm? @1350 V3 cm?
@ 2700 cm? ® 2700 V2 cm?

%x30x30xsin60°x6

:%x30x30x\/7§><6

=1350 V3 (cm?)




1
AABC = = X 16 x 16 x sin(180° — 75° X 2)
1
2>< 6 X 6><2 6




P 2} gttt /BCD = 60°, AD =
6cm, AB = 4cm € o, AAPD 9]

sol=?
@ V3cm?2 @ 2+3cm? 3)3 v3cm?
@ 4+/3cm? ® 5+v3cm?

AAPD = E x OABCD

:ZX4X6XSin60°

V3

:6—
x5

= 3V3(cm?)




30. & 1Y) AFFE ABCD 9] |
o]& F+stofzt.

BRI b

D51v2 @518 @53v2 @)53v3 O 536

B ‘

DABCD = AABC+AADC =

% x 10 x 2vV3 x

. 1
sin (180° — 150°) + 3 X
16 X 12 X sin 60°

1 1 1
= §x10x2\/§x§+§x
l6x12x 3

2
=5v3+48V3 =533




31.

CM = 2cm, ABLCM
59 dol=?
19
@ 2Zcm
@ Z5cm

ne ||




32. the I 2ol sPBQ 7h el 2L, aABC 7t Yol REH
w, APBQ 9] Eefl€] Pol?

@ 5cm @ Tcm ® 8cm ®@)10ecm @ 12cm

o BD+BF =5+5=10 (cm)




33 q——%j—%OﬂiEf;
513 PA — 3.PC
o] Z+s

ol d T A= A
PC=4,CD=5%, x
o]—o:]a_

L

vV Vv
02
i

3(834+x) =4%9,9+3x=36
3x=27..x=9




